HEetEE VUL T, BMAL, TEIT, (#T)
% i Tk - ~Hk HA7 s = ikl
No. 1 F&MENTHT | No.2 FIFENLHL
¢ 3,500 ¢ 3,000
SEHUREEL T SEHUR m 5. 203 4. 560
i ES7S m 1. 197 1. 440
AAiERES m 4. 403 3. 560
L — T = JHET f&HT 1 1
JE AR filik=am)] m 15.8 15. 1
AT T T ke 2,317 2, 398
& T 4 T = 1 1
BIEL IR, M7 m2 26. 6 -
M B TR T - 1
BT T =] 9 4
BN, SEHTER 29 1 1
+T HRELT Bfi##Con 18-8-40BB m3 10.9 6.5
VR bALEE + m3 18.2 11.9
PR RC-40 m3 20. 0 7.2
AT (RC-40) t=16cm m2 10.7 —
t=32cm m2 13.3 7.1
KB T (FAEBEREEAs (13)) t=3cm m2 26. 6 7.1
FIAL AT 6 BAF FATB A 11
EITHATA FL— A 11
TR 29 1
BHEMIAL T m 26
BT HEE R I AT o m3 9
SEHFHT. ﬁ?ﬁ%%%mz m3 30
L T 300A FXiE (FFFIA) m 6
300A & m 2
R L ¢ 300 WARE m 11
HIERR T 7y s
BRI T (R—=2ff&) m 24
i (BRI
HHIERR T 7 Y s
(BFE) m 8

xiE (FAIHD




4 pin Bl i = v ¥ B
No. 1 Heith Tl (B O S 3,500 )
SEHUREE T SOHU = | 5203 m
rr—v ek t=22mm = 5.600 m
it = % h = 1. 500 — 0.303 = | 1.197 m
®E R = 5. 600 — 1197 = | 4.403 m
L& AT
= THEET S BT 1 7 X 3.500 4+ 1.197 X 4 = 15.8 m
ke
20597 1,936 X 1.197 = | 2,317 ke
T TR E T 5.16 X 5.16 26.6 m2
BITARBAM T 9 [m]
+ T MR L
B (Bh##Con) 18-8-40BB
S = "2
SP ¢ 800| 7 /4 X 0.813 X 0. 400 = 0.21 m3
2
DCIP ¢ 250| 7 /4 X 0.272 X ( 2.350 + 0.3 ) = 0.15 m3
2
HPE ¢ 150 = /4 X 0.180 x( 1.250 + 0.349 ) = 0.04 m3
2
VU $200| 7/4 X 0.216 x( 1.550 + ) = 0.06 m3
2
TAENILl =/4 X 1.450 X< (  1.419 + ) = 2.34 m3
PERRSy Rt = 2. 80 m3
)
H| n/4 X 3.50 X 1.419 — 2.80 = 10.9 m3
HEA (FEh b ALBE 1)
PEBR "2
DCIP ¢ 250 = /4 X 0.272 X ( 2.284 + ) = 0.13 m3
"2
HPE ¢ 150 = /4 X 0.180 X ( 2.284 + ) = 0.06 m3
2
FAEAIL| =/4 X 1.450 X< ( 2.284 - 1.433 ) = 1.41 m3
2
TAREAIL| =/4 X 1.400 X ( 1.433 + ) = 2.21 m3
PERR Gy G RE = 3.81 m3
2
H| n/4 X 3.50 X ( 2.284 — y—  3.81 = 18.2 m3
HE L (RC-40)
PERR & "2
DCIP ¢ 250| 7 /4 X 0.272  x( 1.500 - 0.9 ) = 0.03 m3
2
HPE ¢ 150 = /4 X 0.180 X ( 1.500 - 0.9 ) = 0.02 m3
2
TAKEANIL| w/4 X 1.400 X (  0.650 + ) = 1.00 m3
PERRSy GRE = 1. 05 m3
"2 NS
| n/4 X 3.50  x( 1.500 —  0.900 )— 1.05 = 4.7 m3
PEBR &
2
FoAEALl w/4 X 1.400  x( 0.017 + ) = 0.03 m3
2
TAENILl =/4 X 1110 x( 0.300 + ) = 0.29 m3
2
FoABEAL| w/4 X 0.820 x( 0.533 - 0.350 ) = 0.10 m3
PRy ARt = 0.42 m3
"2 NG
2 5,16 < (  0.900 —  0.350 )— 0.42 = 14.2 m3
"2 INE
2 2.58 X ( 0.160 ) = 1.1m3
o 4.7 + 14.2 + 1.1 oFt = 20.0 m3
AT "2
RC-40, t=16cm 5.160 /2 - 5.160 X 0.5 = 10. 7 m2
AT 2
RC-40, t=32cm 5.160 /2 = 13.3 m2
EJ=RN 2
AR As (13) t=3cm 5. 160 = 26. 6 m2




4 i =B i B = ¥ &
No. 2 EIEENTHL ( % O ¢ 3,000 )
SEHURER T AR R S = | 4.560 m
= IR t=22mm = 5.000 m
o B h = 1.500 —  0.060 = | 1.440 m
% oE h= 5000 — 1.440 = | 3.560 m
LT
= TRET S BT T n© X 3.000 + 1.440 X 4 = 15.1 m
ke/m
HEAT T 7T 1,665 X 1.440 = | 2,398 ke
IR T BIHERERET M e TR FEOME ¢ 3,000 1 f&Ar
B LARPBHPA T 4 [A]
+ T R L
R (Bfi##Con) 18-8-40BB
PEpR )
SP$800| m/4 X 0.813 X  0.450 = 0.23 m3
2
DCIP ¢ 250 =/4 X 0.272 X ( 1.350 + 0.3 ) = 0.10 m3
2
HPE¢ 150] =/4 X 0.180 x( 1.250 + 0.349 ) = 0.04 m3
2
VU200 =/4 X 0.216 X ( 1.350 + ) = 0. 05 m3
2
FABAF|] /4 X 1.050 X ( 1.119 - 0.150 ) = 0.84 m3
2
TAGEARL] =/4 X  1.100 X ( 0.150 + ) = 0. 14 m3
PEBR S AF = 1. 40 m3
2
#Hl x/4 x  3.00 X 1.119 — 1.40 = 6.5 m3
MR (REMLALEE 1)
FEBR "2
DCIP 250 =/4 X 0.272 X ( 1.941 + ) = 0.11 m3
2
HPE$ 150| =/4 X  0.180 X ( 1.941 + ) = 0. 05 m3
2
TFABEAAL|] /4 X 1.050 X ( 1.941 + ) = 1.68 m3
PEBR Sy A = 1.84 m3
2
| x/4 x  3.00 X( 1.941 — y—  1.84 = 11.9 m3
HLEE (RC-40)
LS = "2
DCIP ¢ 250 =/4 X 0.272 X ( 1.500 - 0.9 ) = 0. 03 m3
2
HPE$ 150 =/4 X 0.180 X ( 1.500 - 0.9 ) = 0. 02 m3
2 0. 60+0. 21
FABAAL|] /4 x  1.050 X ( 1.500 - 0.81 ) = 0. 60 m3
2 0. 35-0. 21
TAGEAFL] =/4 X 0.935 X ( 0.600 - 0.14 ) = 0.32 m3
PEbRy At = 0.97 m3
"2
| x/4 x  3.00 X( 1.500 — 0.350 )— 0.97 = 7.2 m3
AT "2
RC-40, t=32cm x/4 X 3.000 = 7.1 m2
FETL
AR EAs (13) t=3cm 7.1 = 7.1 m2




g2 R i B B = e e
FRAL
FHAZ S HA
FRIASA H GX ¢ 250, HPPE ¢ 150, VU $ 200 F5AZ 11 #f
EITHIA RL—1 2. 5m,/ #i 11 #A
TEE 1K
B HIHAL T
BT BEH - L—LRE, AR E T L= 23.7 +2.5= 26 26 m
Fet T
T Iy IRAEEIE T 2 2 2 2
HEEE N e T C=1. ONnm22L | 24 X  w/4x( 0.80 — 0.272 — 0.180 — 0.216) = 9 m3
VRE{LALER 1 TITMETFHELY
SEHUFEIE T 0=0. 3~0. 5N/mm2 18.2 + 11.9 = 30 m3
£t L
300A
T @, ks (ERA) X & Y 8 m
FEOME 300
IR T R B & v 11 m
BHERR T 0y 7 (RN—2 A E)
SSEHGESER T BRiE (FRH) X & v 24 m
HEESER T v v 7 (BFE)
i (AR B & v L=8. 4m 8 m




EBKERBET GX 250 HPPE ¢ 150 B#t - 555%

g B K OV K

4 R Hiks BB
[REAKEEH]
GX ¢ 250
B EA )R 2.5m 2.2m+ £ H)2.5m 1.9m
HAE GXIE 1FRE ¢ 250 10 1 1 12 A&
90° itk Flik
GXEhiE J 5% ¢ 250 2 2 4 1
45°
F 3 ¢ 250 1 1 &
45°
M5 ¢ 250 1 1 &
GXE
it i ¢ 250 1 1 &
GXE
ava ¢ 250 1 1 2 {IE
GXIE
G-Link ¢ 250 1 1+ 4 &
GXE
LAY $ 250 10 10 L&l
GXE
HhmE) 7 ¢ 250 10 10 {E]
GXIE
EreeE H ¢ 250 1 1 1
RY=FL &M
% ¢ 50 1 1 ]
~——#i 2 2 &
[BiAKEE#T]
HPPE ¢ 150
L=5m YT
EBFEE ¢ 150 7 7 7N
90°
EF i M5 ¢ 150 1 1 9 1
90°
J% ¢ 150 1 1 2 &
45°
5 ¢ 150 2 2 &
EFY /4y h ¢ 150 9 9 &
RUE A
AH=J1VIEHE ¢ 150 1 1 2 18
RV FL 4
IR ¢ 50 1 1 2 &
T BEVN
Ry FL ¢ 50 5.0 2.0 7.0 m
HRT—7 TR AL 5.0 5.0 m
~—J1—#t 2 2 118




EBKERBET GX 250 HPPE ¢ 150 B#t - 555%

g B K OV K

4 R Hiks BB
[EKEF7%]
GX ¢ 250
EERE AR L $ 250 35.5 355 | m
[EXEEBCie 2.5m 2.2m 1.9m
GXIEMkF L $ 250 0+ 1 + 1 12 m]
B - @H 90° Ji 45° % 15° G-Link
¢ 250 4 + 1 + 1 4 2 5]
BB « G-Link e
¢ 250 4 + 2 6 =]
GXIE
N T ¢ 250 10 10 =]
(R 3
A = IV ¢ 250 10 + 1 11 5]
90° Jiz itk Esb=S
RITFL L RY—T $ 250 14 + 22 + 19 + 25 8.0 m
Y
FHEERE LT T $ 250 13 13 5]
kg/m
AT T 28.4 X 44.5 1,264 | ke
[BAE 575
HPPE ¢ 150
RYTF L ERA T ¢ 150 34.3 34.3 m
$ 50 7.0 7.0 m
Y
RYTF L EEIN T ¢ 150 14 14 n
s
F A kT T ¢ 150 2 2 H
20 ok
¢ 150 2 + 2 + 9 13 =]
AR =TIVAET B
RYTF L HETF T ¢ 150 2 2 u]
* %
$ 50 1 + 2 3 5]
BRY—h T 5.0 m




DGX ¢ 250

GXIE & FAF HENMEE G-Link GXJE il O wiwirs
FEAT sedt rsedt 90° | 45° | 45° 22° 1/2/11° 1/45° 5/8 vy & Vv (@b
HE  HEE  HEE JUF s W= % h% §i%
(A) () KR | (K
1=2.5m  1=2.2m  1=1.9m  1=2.5m () | &) oE) | (ED | ED) (ED (f#) (1) (fE) (=) | (fE)
1 2 1 1 1 1
10 10 10
1 1 2 1 1 1
5 10 1 1 1 0.0 4 1 1 0 0 0 2 10 2 1 10
EE 2.5 2.2 1.9 2.5 0.75  0.27 0.56 0.46  0.41  0.41 0.04 ik I
SEE 25.0 2.2 1.9 2.5 0.0 3.0 0.27 0.56 0 0 0 0.08 = 35.5
HPPE ¢ 150
NN E EF  [Ap=n1 TR
My w4 90° 90° | 45°  45° Yok JEE (#3H
Eﬁ (m)  m) W% ~Fhx W%z +=
1=2.5m (fE) (&) (#E) | (ED (fE) (1)
0.5 1 1 1 1
2.3
2.4
9 9
2.0 1 1 1
0.50 1
7 9 0.0 7.7 2 2 2 0 9 2
EE 2.5 0.7 0.8 0.5 0.6 T itz
SER 22.5 0.0 7.7 1.4 1.6 0.9 0.0 L= 34.3




g % #H &

DGX ¢ 250 ( L =5.0m/ A ) HPPE ¢ 150 ( L =5.0m /A~ ) 3% {7 HPPE ¢ 150 ( L =5.0m/ A ) HEH%&
FEE| o wmE | A K|owmT|meElReg| cwE A% |O TR E z. % K I |G T E
m N P= A=) m m m A | () m m N P A (=) m
2.2 1 1 2.8 2.5 2.5 1 2 0.0
1.9 2.5 1 2 0.6 2.5 2.5 1 2 0.0

2.5 2.5 1 2 0.0

2.5 10 10 25.0 2.5 2.5 1 2 0.0
2.5 2.4 1 2 0.1

2.3 2.0 0.5 1 3 0.2

0.5 1 1 4.5

12 13 28.4 g 7 7 14 4.8




T THERREE

SRR TSR UL PP50 e[RRI T.2) RV [

4 Fr i NI N E N T = = 1 ERlE [ HAr|  axEME

ShZL N T As, t=15cmPA T 10.0 10.0| m 10

SEERREUE T | As, t=10enlL F 3.0 2.0 19.2 4.0 28.2 | m® 28

PR T Bk g - 3.0 0.6 1.6 0.8 9.0 | m® 9
Btz 7V —F ‘

S EREL T 18-8-40BB 10.9 6.5 174 | m® 20

HORL T TR AL 1 18.2 11.9 30.1 [ m® 30

D EL T RC-40 20.0 7.2 0.8 0.6 0.4 29.0 | m® 30

D RELT i 1.4 14| m® 1

¥y WE+ 3.0 0.6 4.6 0.8 9.0 | m® 9

pgeld 3.0 0.6 4.6 0.8 9.0 | m® 9

FRIL LR As 0.2 0.1 0.6 0.1 1.0 m® 1

Fean sy & As 0.2 0.1 0.6 0.1 1.0 m® 1

15 VEE - L5 T 0.01 0.01 [ m® 0.01
Pt

AT RC-40, t=10cm 2.5 2.5 | m? 3
Pt

BAE T RC-40, t=16cm 10.7 2.0 12.7 | m® 13
B

AT RC-40, t=24cm 7.2 7.2 | m? 7
G

PAE T RC-40, t=32cm 13.3 7.1 3.0 23.4 | m? 23
HE W<1.4m

FET AR BRI EEAS(13) t=3cm 3.0 7.2 102 | m® 10
HHEW=1.4m

#zET AR EEAS(13) t=3cm 13.3 7.1 20.4 | m® 20
A:E W<1.4m

KB T AR BRI EEAS(13) t=3cm 2.0 2.5 45| m® 5
HEW=1.4m

FET FABRIEEAS(13) t=3cm 10.7 10.7 | m® 11




+ T % & %

+TH47° 1-1 MEHE As PP ¢ 50 DP=0.90m
+ TR = 5.0 = 5.0 m
W P>
EH | BRE RIEIR BAEZFHIAs t=3cm
—t
. I SR
I RAET
| RC-40 S
!
|
i W | #EEIfE[  0.600
a i D1 [&4M%[ 0.060
= £ e IR 1ERM = DP_ | 140 | 0.900
2 RC-40 H1 | #EHIEE] 1.060
i H2 | #EAIE| 1.010
BB hl | HEEA| 0.250
iz—t h |# &] 0.460
I o
i S
| —
| 5| =
—
o
i =3
!
\L
( 5.0 m %7=v¥E)
4 g iR NI MR g =1 =V B % &
SR T As, t=15cmLL F 2 X 50 m 10.0
A f Fi e T As, t=10cmPL F 0.6 X 5.0 m? 3.0
o T Hetk WHE A+ 0.60 X 1.010 X 5.0 m® 3.0
HHEL T RC-40 0.60 X 0250 X 5.0 m® 0.8
MY RELL WAL
M RELTL i ( 0.60 X 0.460 — 0.060 2 X x,/4)X 5.0 m® 1.4
WEER R R
7 sy e+ 3.00 — ~ 09 m® 3.0
FRU e As 0.6 X 005 X 5.0 m® 0.2
S E As m® 0.2
TG URIENE - 25> T 0.023 X 0.05 X 10.0 m® 0.01
B T RC-40, t=32cm 0.6 X 5.0 m? 3.0
AR EEAS(13)
*E T t=3cm 0.6 X 5.0 m? 3.0

10




+ T % & &

+Th47° 1-2 TEHE As PR ¢ 300 DP=0.19m
IR BE KB 2
+ TiEE L= 4.0 = 4.0 m
< W »
EEl | BR RIEIH BEZHIAs t=3cm
v 8
OA |
(‘Q“ T A
g BRiE T 5
o HEMRAEAL  RC-40 °
E % DV I v
i BEM —
v ! RC-40 < v W T}Eﬁumﬁ 0.500
[ D1 [#&4M%]  0.300
DP | | 0.190
¢ D1 H1 [ #EHIEE[ 0.490
H2 | #RiEI&E ] 0.460
hl || 0.300
( 4.0 m Y47-vEE)
pa PR R =F ik 7 H =V Hp =
Al b B s T As, t=10cmPA T 0.5 X 4.0 m’ 2.0
e Al T Mk WL [( 050 X 0460 — 0.300 ° X z,/4)X 4.0 |m’ 0.6
HHRELT RC-40 0.50 X 0.300 X 4.0 m® 0.6
R R e
p5 ') WE L 0.60 — =~ 0.9 m’ 06
RS As 0.5 X 0.03 X 4.0 m® 0.1
LS As m® 0.1
W T RC-40, t=16cm 0.5 X 4.0 m? 2.0
AR EEAs(13)
= =B T t=3cm 0.5 X 4.0 m’ 2.0

11




+ T % & &

+ T 47 1-3 TEHE As AT (1) DP=0.27m
+ TR L= 24.0 = 24.0 m
< W »
EEl | BR RIEIH BEZHIAs t=3cm
— . v 8
(‘O“ ' A
g BRiE T o
= g a HEMYEHL  RC-40 s
v A4 v ! PE—— 4
i
| W [HAliE] 0.800
! DI || -
DP | +4 -
H1l | #EHIE| 0.270
H2 | #RHI&E]  0.240
( 24.0 m 47-0EE)
pa PR R =F ik v H = H B &
Al B T g T As, t=10cmPL T 0.8 X 24.0 m* 19.2
e Al T Mk WEL [ 080 X 0240 — - X z/4)X 240 |m’ 4.6
HYRLT RC-40 0.80 X 0.000 X 24.0 m’ -
MWEIEE R
5% LSy g+ 460 — = 0.9 m® 4.6
OB As 0.8 X 0.03 X 24.0 m’ 0.6
LS As m® 0.6
A T RC-40, t=24cm 0.3 X 24.0 m? 7.9
FAERRIEAS(13)
#FB T t=3cm 0.3 X 24.0 m’ 7.2

12




+ T % & &

+Ta7 1-4 HEAE As FAIT(2) DP=0.22m
+ TiEE L= 8.4 = 8.4 m
< W »
EEl | BR RIEIH BEZHIAs t=3cm
s 8
o & i
(‘O“ T A
g BRiE T 5
o *&Wﬁﬁ“i RC-40 S
pm = A4 : X
i —
* : I | W [HAliE] 0.480
! DI |Esee] -
DP | 4 -
H1l | #EHIE| 0.220
H2 | #RiEI&E] 0.190
hl || 0.090
( 8.4 m H¥7-0HKE)
pa PR R =F ik v H = H B &
Al b B s T As, t=10cmPA T 0.48 X 8.4 m’ 4.0
i OHl T itk mE+ (048 X 0190 — - 2 X g,/4)X 84 m’ 0.8
HHRELT RC-40 0.48 X 0.090 X 8.4 m? 0.4
mEERE LR
gy weg+ 0.80 — = 0.9 m° 0.8
OB As 0.48 X 0.03 X 84 m’ 0.1
LS As m® 0.1
i T RC-40, t=10cm 0.3 X 84 m’ 2.5
FAERRIEAS(13)
= =B T t=3cm 0.3 X 8.4 m’ 2.5

13




TAKEEHRHET VUDG200 B 575

4 ik W X K OV B OB
FAKEEA L
BE ke =— 4
i an ¢ 200 1.70  + 24.30 + 1.45 = 27.45 28.0 m
SPN Rl Pk
T ¢ 200 2 2 (55
<~ ARV
FHN~ R —L T
T-14
< R—VE fliig 2 2 HH
P2V 20mm~70mm 2 2 HipT
REY 50mn 1 1 118
R 100mm 1 1 118
I 150mm 2 2 1
25
FHEET Oy 600 1,200 X 300 1 1 &
175
REET Ty 600 <900 X 600 1 1 18
25
[ER A= 1,200 X 2,100 1 1 ]
175
[ER A= 900 % 1,800 1 1 &
25
k7 ey 1,200 X 2,100 1 1 1
175
Uit A= 900 % 1,800 1 1 18
25
R T e 1,200 X 150 1 1 &
15
JEfR T oy 900X 130 1 1 i
25
FSL~ R —LERE T | AFLIEE5.0m~6.0m 1 1 &
175
ST R — VR E T AFLES4.0m~5.0m 1 1 (5D

14




ST UR—ILBERREE

iR | AfL | hEBES o'

A E ARLR |EhR BHEIOv Y BEEJOvY MEIOVY )Y | AFHE ‘_'f__l
&S | &5 (m) (m) | (cm) (cm) (cm) (cm) (cm) EZ | 110mm 5
EE EES BEE EES 15| 90 | 120 | 150 | 180 | 210 | 30 | 60 | 90 | 120 | 150 | 210 | 15 | 30 | 45 | 60 5 8 10 | 15 | & |T-25|T-14
(inm) (im) (im) (im) \ E | & @ @ @\ @8/ @ & @# @ @| 6@/ @ @ @ | & | 6@ 6@ 68| w6 @
S - -
No. 1 62. 80 VU200 |58.269 | 4.531 | 1 1 1 1 1 2 23 1
FHgMH
aEt 4.531 | 1 1 1 1 1 2 23 1
ISHMYUR—LHEHES
R | AR | thifm ol g A E AFLR |EhR BEIOY Y [EE A= MEITOVY HAEIOYY | A= E&I
&S | &5 (m) (m) | (cm) (cm) (cm) (cm) (cm) EZ | 110mm 5
EE EES EE EES 13| 90 | 120 | 150 | 180 | 210 | 30 | 60 | 90 | 120 | 150 | 180 | 15 | 30 | 45 | 60 5 8 10 | 15 | & |T-25|T-14
(inm) (im) (im) (im) \ E & @ @ @\ @/ @ & @ @ @/ 6@/ @ @ @ | @@ | 6@ 6@ 68| w6 @
EE — —
No. 2 62.55| VU200 |58.362 4.188 | 1 1 1 1 1 50 1
FHMH
At 4.188 | 1 1 1 1 1 50 1

15




